MIAMI-DADE COUNTY, FLORIDA

MIAMIDADE METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Hurst Awning Company, Inc.
6865 N.W. 36" Ave.
Miami, FL 33147

ScopE:
This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted

by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where atlfowed by~
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.035” (min.) Steel Storm Panel Shutter Systems

APPROVAL DOCUMENT: Drawing No. 05-343, titled “20 ga. Steel Storm Panel”, sheets 1 through 6 of 6,
prepared by Thornton-Tomasetti Group, dated June 28, 2005, last revision #1 dated July 12, 2006, signed and
sealed by V. J. Knezevich, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice
of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.
This NOA renews NOA # 05-0712.03 and consists of this page 1, evidence submitted pages E-1, E-2, E-3, & E-2
as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

- ‘/Z'ﬁ / M/ NOA No 06-0928.05

Expiration Date: 02/16/ 2012

o3 / o) / 2007 Approval Date: 03/0}1)/200?
age




Hurst Awning Company, Inc.

[y

NOTICE OF ACCEPTANCE.: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVALS
DRAWINGS

L

Drawing No. 95-331, Hurst Awning Co., 20 gage "Steel” Storm Panels, Sheets I thru
6, prepared by Knezevich & Associates, dated 6/09/95 with Revision No. 6, dated
07/17/96, signed and sealed by V.J. Knezevich, P.E.

TESTS

1.

Test report on Large Missile Impact Test and Cyclic Wind Pressure Test of 20 ga.
galvanzzed steel storm parzels prepared by Hurrzcane Engzneerzng & T estmg, Inc.,

M Medzna P.E.

Test report on Uniform Static Air Pressure Test of 20 ga. galvanized steel storm
panels, prepared by Hurricane Engineering & Testing, Inc., Report No. HETI-94-
317b, dated September 27, 1994, signed and sealed by Hector M. Medina, P.E.

Test report on Large Missile Impact Test and Cyclic Wind Pressure Test of 20 ga.
galvanized steel storm panels, prepared by Hurricane Engineering & Testing, Inc.,
Report No. HETI-94-401b, dated January 17, 1995, signed and sealed by Hector M.
Medina, P.E.

Test report on Large Missile Impact and Uniform Static Air Pressure Test of "20 ga.
steel” storm panels, prepared by Construction Testing Corp., Report No. CTC-95-
021, dated June 9, 1995, signed and sealed by Christopher Tyson, P.E.

Test report on Large Missile Impact and Cyclic Wind Pressure Test, of 20 Gage Steel
Storm Panels, prepared by Construction Testing Corporation, Report No. CTC-95-
031, dated August 31, 1995, signed and sealed by Christopher G. Tyson, P.E.

Test report on Uniform Static Air Pressure Test, Large Missile Impact Test, Cyclic
Wind Pressure Test prepared by Construction Testing Corporation, Report Nos.
CTC-96-006 and CTC-96-006R, dated March 7, 1996, signed and sealed by
Christopher G. Tyson, P.E.

CALCULATIONS

1.

2.

Anchor analysis dated 7/03/95, Pages 1 through 24, prepared by Knezevich &
Associates, Inc., signed and sealed by V.J. Knezevich, P.E.

Anchorage Calculations for 12 additional details/conditions, Hurst Awning Co., Inc.,
dated 9/19/95, pages 1 through 37, prepared by Knezevich & Associates, Inc., signed
by V.J. Knezevich, P.E.

Comparative Analysis and Anchorage Calculations for 20 Ga. Steel Storm Panels,
Hurst Awning Co., Inc., dated 04/03/96, pages 1 thru 31 of 31, revised on 07/18/96
pages 1 thru 40 of 40, prepared by Knezevich & Associates, Inc., signed by V.J.
Knezevich, P.E.

;/e/émr,ewv

elmy A. Makar, P.E., M.S.
Product Control Examiner
NOA No 06-0928.05
Expiration Date: 02/16/ 2012
Approval Date: 03/01/2007



Hurst Awning Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

D. MATERIAL CERTIFICATION
1. Mill Certified Inspection Report issued by RAUTARUUKKI OY dated 12/31/94 with
chemical composition and mechanical properties for galvanized steel, ASTM A446-93.
2. Certified Tensile Test Report from independent lab QC Metallurgical, Report Number
SEM-1307 dated 6/14/95 for 20 Ga. steel.
3. Certified Tensile Test Report from independent lab QC Metallurgical, Report Number
6DM-1044, dated 04/24/96 for 20 Ga. steel.

. EVIDENCE
A. DRAWINGS
1. Drawing No. 98-218, titled “20 Ga. Steel Storm Panel”, prepared by Knezevich &
Associates, Inc., dated September 30, 1998, last revision #2 dated January 4, 1999,
sheets 1 through 8 of 8, signed and sealed by V. J. Knezevich, P.E., on January 6, 1999.

B. TESTS
1. Test report on Large Missile Impact Test, Cyclic Wind Pressure Test and Uniform
Static Air Pressure Test of 20 gage storm panels, prepared by Construction Testing
Corporation, Report No. CTC-98-044, dated September 8, 1998, signed and sealed
by Christopher G. Tyson, P.E.

C. CALCULATIONS
1. Revised anchor calculations, dated September 30, 1998, sheets 1 through 33, by
Knezevich and Associates, Inc., signed and sealed by V.J. Knezevich, P.E. on
October 7, 1998.
2. Revised anchor calculations, dated January 6, 1999, sheets I through 6, by
Knezevich and Associates, Inc., signed and sealed by V.J. Knezevich, P.E. on
January 6, 1999.

D. MATERIAL CERTIFICATION
1. Mill Certified Inspection Report, dated 05/13/98, for Galvanized Steel, ASTM 653
by R R Metals with chemical composition and physical properties.
2. Tensile Test Report from Certified Testing Laboratories, report # CTL-800D, dated
09/03/98 for galvanized steel, signed and sealed by Ramesh Patel, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 01-1224.01
A. DRAWINGS
See NOA 98-1021.03

w

B. TESTS
See NOA 98-1021.03

;/VZMAIMV

CHelmy A. Makar, P.E., ML.S.
Product Control Examiner
NOA No 06-0928.05
Expiration Date: 02/16/ 2012
Approval Date: 03/01/2007




Hurst Awning Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
See NOA 98-1021.03

D. MATERIAL CERTIFICATIONS
See NOA 98-1021.03

E. STATEMENTS
1. See NOA 98-1021.03
2. Letter from Hurst Awning Company, Inc., dated 10/18/01, stating that the

engineer who performed the review of the product is still in the engineering
business and that the product has not changed.

F. OTHER
NOA 98-1021.03.

4. EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #02-0315.11
A. DRAWINGS

See NOA 02-0315.11 (General Notes)
B. TESTS

See NOA 01-1224.01

C. CALCULATIONS
See NOA 01-1224.01

D. MATERIAL CERTIFICATIONS
See NOA 01-1224.01

E. STATEMENTS
See NOA 01-1224.01

F. OTHER
See NOA 01-1224.01

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #05-0712.03

DRAWINGS

1. Drawing No. 05-343, titled “20 ga. Steel Storm Panel”, sheets 1 through 6 of 6, prepared
by Thornton-Tomasetti Group, dated June 28, 2005, last revision #1 dated July 12, 2006,
signed and sealed by V. J. Knezevich, P.E.

> o

B. TESTS
1. None.

}/MA/M\/

CAfielmy A. Makar, P.E., M.S.
Product Control Exammer
NOA No 06-0928.05
Expiration Date: 02/16/ 2012
Approval Date: 03/01/2007




Hurst Awning Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
1. Revised anchor calculations, dated June 10, 2005, pages 1 through 49, prepared by
Thornton-Tomasetti Group, signed and sealed by V.J. Knezevich, P.E. on June 10,
2005.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

1. None.
6. NEW EVIDENCE SUBMITTED
A. DRAWINGS

1. None.
B. TESTS

1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Olffice.

E. MATERIAL CERTIFICATIONS
1. None.

%/e/émﬂ/é(/&\

my A. Makar, P.E., M.S.
Product Control Examiner
NOA No 06-0928.05
Expiration Date: 02/16/ 2012
Approval Date: 03/01/2007




16: 25

07/12,/06

07/14/2006 09:59: 45am

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343—01.dwg MCantu

Print Information:

10.

n

12.

13.

14.

1.

16.

GENERAL NOTES:

THESE APPROVAL DOCUMENTS REPRESENT A SHUTTER SYSTEM ANALYZED WITH
THE PROVISION SET FOR THE ISSUANCE OF A NOTICE OF ACCEPTANCE (NOA) BY
MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION FOR THE HIGH VELOCITY HURRICANE
ZONE (HVHZ) OF THE FLORIDA BUILDING CODE 2004, WITH 2005 SUPPLEMENT.

NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS PRODUCT.

WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR WOOD LAG SCREW DESIGN.

DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING
THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING

WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH ASCE 7-02,

A DIRECTIONALITY FACTOR OF Kd =0.85 SHALL BE US|

THESE APPROVAL DOCUMENTS ARE GENERIC AND DO NOT INCLUDE INFORMATION
FOR SITE-SPECIFIC APPLICATION OF THIS SHUTTER SYSTE

USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER 61G15-23
OF THE FLORIDA ADMINISTRATIVE CODE.

THESE APPROVAL DOCUMENTS, ARE SUITABLE TO BE APPLIED BY THE CONTRACTOR
PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
HEREIN AND THE CONTRACTOR VERIFIES THAT THE EXISTING STRUCTU 0ES
UE;AIL\E/I!)AI:IIEER"E‘ EITHER FORM OR MATERIAL FROM THE STRUCTURAL SUBSTRATES

ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS WILL VOID
THE APPROVAL DOCUMENTS.

WHEN THE SITE CONDITIONS DEVIATE FROM THESE APPROVAL DOCUMENTS THE
BUILDING OFFICIAL MAY ELECT ONE OF THE FOLLOWING OPTIONS

A) REO.UIRE THAT SITE SPECIFIC DOCUMENTS BE PREPARED SIGNED DATED AND
SEALED BY A LICENSED ENGINEER ORO CREGISTERED ARCH IT WHICH DETAIé.

TED TO
PRODUCT ENGINEER FOR REVIEW AS A CONDITION TO THE BUILDING OFFICIAL
GRANTING HIS/HER APPROVAL.

B) REQUIRE THAT A ONE-TIME SITE SPECIFIC APPROVAL BE APPLIED FOR AND
SECURED FROM THE MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION

WHEN THE SITE CONDITION DEVIATIONS OCCUR WITHIN THE HIGH VELOCITY HURRICANE
ZONE AREAS ONLY OPTION "B” SHALL BE ACCEPTED BY THE BUILDING OFFICIAL.

PRODUCT MARKINGS SHALL BE WITHIN 12” OF ONE END OF THE PANEL WITH A
MINIMUM OF ONE MARKING PER PANEL AND SHALL BE PERMANENTLY LABELED

AS FOLLOWS:
HURST AWNING CO., INC.
ORIDA

MIAMI
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED

ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A
MINIMUM TENSILE STRENGTH OF 60 KSI OR APPROVED COATED HARDWARE.

STORM PANELS SHALL BE 20 GAUGE STEEL (t = .035") CONFORMING
iEUgINIJ%E SOd ﬁﬁo GALVANIZED COATING. ALL EXTRUSIONS SHA|

=
I‘O
""U'l
m—l
>
Wl

S SHOWN MAY BE INTERCHANGED AS FIELD CONDITIONS
DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE, EXCEPT
FOR "h" AND "U” HEADER MOUNTING CONDITIONS

AT LEAST ONE WARNING NOTE PER OPENING SHALL BE PLACED IN A CONSPICUQUS
LOCATION ON A F THE COM ONE NTS OF THE STORM PANEL SYSTEM ADVISING

THE HOME OW| NER OR TENANT THAT T RRI
PROTECTION UNLESS ALL REINFORCING BOLTS AND OR BARS ARE PROPERLY
INSTALLED WHEN REQUIRED. WARNING LABEL SHALL BE FASTENED WITH PERMANENT
ADHESIVE OR MECHANICALLY.

WHEN PANEL ' IS USED, 6-1/4" AND 12-1/2" 0.C. SHALL BE USED IN ALL ETAILS
IN THESE DRAWINGS IN LIEU OF 6" AND 12" BUT FASTENER SPACING SHALL NOT
EXCEED THAT SHOWN IN ANCHOR SCHEDULES.

174" MAX.

7 £ 1767 Max.

L EXISTING
STRUCTURE

OVERLAP FASTENERS
TYP. (SEE NOTE # 12

ALUM. ANGLE CLOSURE PIECE:
1" x 2" x .055" MIN. TO
2" x 5" x .055" MAX.

EXISTING f FASTENER @ 12" 0.C. FOR DESIGN LOADS
STRUCTURE LESS THAN OR EQUAL TO 140 P.SF. & @ 6” O.C.

FOR DESIGN LOADS GREATER THAN 140 P.S.F.

Vo = = =r— 1-1727 ] ¢
MiN. g

) WIDTH UNLIMITED - WIDTH UNLIMITED Top ) WIDTH UNLIMITED  rop WIDTH UNLIMITED ,
oP
(PERP. TO PANEL SPAN) / MOUNT (PERP. TO PANEL SPAN) MOUNT (PERP. TO PANEL SPAN) MOUNT (PERP. TO PANEL SPAN) | A
SECTION pmr ' SECTION SECTION p SECTION r /
ol ol o ol o o ol —
K oy I o
s = s =~
w w w w
e~ |- |~ 2|~
] ] a|Jd
23 2|2 2|z o3
i lF -iE |-
z 4 4 z
uio wie wle w| g
n|N PLAN wiN PLAN nlN PLAN uin PLAN
i VIEW -z VIEW - VIEW “\z VIEW
I|o b=} Iio r |0
ElT ¢ ' =l T T ' FiT ' T '
Sla | H | 9l O | e [ B | 9lg oy
Zlo glo wi© Zlo
4 2. - 2l - &‘ Jdja
oy oy @y 218
Z - Z|- Zi- zle
< < <a a4
alw aiw ajw P
> > > -1y
X< x| X< x|
< s < P,
P x b T
o ot o K ol oy - o o o) o ol o) q ot
: BOTTOM 3 : BOTTOM {— BOTTOM
Z L ROUNT " 6" | L MOUNT e = MOUNT Coq2n - MOUNT
ITYPI OVERLAP FASTENERS & ITYPI ~ OVERLAP FASTENERS & (TYP) (TYP)
OPTIONAL BAR (SEE PLAN OPTIONAL BAR (SEE PLAN 4_ O BOLTS REQUIRED TO HOLD PANEL SEAMS %o BOLTS REQUIRED TO HOLD PANEL SEAMS
VIEW & NOTES 12 & 13) VIEW & NOTES 12 & 13) OGETHER FOR THIS MOUNTING CONDITION.) GETHER FOR THIS MOUNTING CONDITION.)
TYPICAL ELEVATION - TYPE | TYPICAL ELEVATION - TYPE Il TYPICAL ELEVATION - TYPE lli TYPICAL ELEVATION - TYPE IV
N.T.S. N.T.S. N.T.S. N.T.S.
PRODUCT MARKING
PRODUCT MARKING /LOCATION
LOCATION SEE GENERAL NOTE
#16 THIS SHEET.
R ¢ 2.000" " 2.000"
] & g w\ 1110 3| a1 1500 |
N < ~ ~ :
< y QO ' |
.75"! 12.500" COVERAGE !
75 12.00 COVERAGE 6.00 I 75 ;
i T — | 13.710"
13.50 ONE HALF PANEL PER OPENING ! 250" '
- ) MAY BE USED AS REQUIRED TO : }
COVER OPENING.

FULL PANEL

HALF PANEL

STORM PANEL

73" = 10"

FULL PANEL

@ STORM PANEL
SCALE

13" = 1'-0"

Y 2.250" SCALE
K“I 2.250"
=7 : 1/4-20 x 3/4" MACHINE SCREW
& 062" R .250" 062" STUD PUNCHED INTO ANGLE
ks (TYPi ' (TYP) R .250" (SEE DETAILS FOR SPACING} 188
. = 3 3 jﬂ— 46
I . o — 125 TYP. b4 125 TYP. n 1
0 T - : NG ¥ o awo oL Lo N1
-~ - = > o —
m { b| IS " \ . ~ 125 TYP. ©|TYR) LEG GPTIONAL %8| | 425 @l ol
[ S J— " o 2.00 A L k====3 =1 a8 @ ™
| 2.063" 2.035" 1I 5.00 MAX. I 2.00 2.000 I——I
2.329" (ZAMAC 3 ALLOY)
WASHERED
"h" HEADER "U" HEADER ANGLE ANGLE STUDDED ANGLE "F' TRACK e WINGNUT
SCALE: 3" = 1'-0" SCALE: 3" = 1'-0" SCALE: 3" = 1'-0" SCALE: 3" = 1-0" SCALE: 3" = 1-0" SCALE : 3" = 1'-0" SCALE: 3" = 1-0"
/ Ross FLATS 1.00 2.940
14 GAUGE . :
-. g 16 GA. g 8
- ) -
3.31£’—_l R 187" 1.126*
WASHERED NUT (8a) MUST
PORTION OF REVHOLE SLOT. Y
) SPRING LOCKING N
WASHERED NUT STEEL BAR CLIP (1" WIDE) SILL TRACK - 3
SCALE : HALF SIZE SCALE: 3" = 1'-0" SCALE : 3" = 1'-0" SCALE: 3" = 1'-0" FROLU FRODUCT ]

(3. TYP. (OPTIONAL) 172" MIN. OVERLAP \u
SEE TYPICAL ELEVATION

TE 1 3
& NOTE1Z & 13 ALUM. ANGLE CLOSURE PIECE:

%
1" x 2" x .125" MIN. TO /

—FASTENER @ 12" O.C.

FOR DESIGN LOADS LESS THAN
OR EQUAL TO 140 P.SFF. 2 @
6" 0.C. FOR DESIGN LOADS
GREATER THAN 140 P.S.F.

(SEE ANCHOR SCHEDULE FOR
ANY ACCEPTABLE ANCHOR.}

EXISTING

2" x 5" x .125" MAX. X
STRUCTURE

{SEE ANCHOR SCHEDULE FOR ANY AcCePTABLE ANcHOR)  PLAN VIEW / CLOSURE DETAILS
SCALE: 1-1/72" = 1'-0"

8z wwmymv with the Flovide
Buiding ¢ wdm

iri‘/E.,AGI.":

=05 g
[=)8
5 [ |lE
o ~
= |mR gl
r e,
OBz |8
2]
o =] —
+ DL E|E
- o~ O || ©
U isavid
3oga
vl imsmS||E
< -d2||o
EN0 ||
vy
e
O g%«
i o c
= |¥TSF | E
s |€x32
5 255"
= (4888
q L\ A o
Mmoo
=g
FANES
Qo &4 (@]
-c/\

r-c Sx b=t
— <o |5
O

z= (g
- - 2
()

Phone: (305) 635-0900
Toll Free: (800) 327-0905
Fax: (305) 634-9078

6865 N.W. 36th Avenue
Miami, Florida 33147

20 GA. STEEL STORM PANEL

Manufacturers of Hurricane & Security Protection Products

AWNING COMPANY, INC.
"QUALITY SERVICE SINCE 1957"

[ V.J. Knezevich
Professional Engineer
FL License N 0010983

description
PREVIOUSLY DRAWING No. 98-218
CCUNTY COMMENTS

revisions

0 [06/28/2005| NW
1107/12/2006{ NW

no| date |by

date

06/28/2005

drawn by
IAS NOTED CR

)
)
Jesign by ][checked by UK J’
)

05-343

sheet 1 of 6

[ Wil
l g
[




16:25

07/12,/06

07/14/2006 09:59:50am

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343-02.dwg MCantu

Print Information:

EmBeD S/ €4 CONNECTION TYPE
EXISTING CONCRETE, —| / REFERENCE ANCHOR
HOLLOW BLOCK 4 : SCHEDULE FOR MAX,
OR WOOD FRAMING J SPACING
gl (
Q¥ ® "
G / 174" MAX.
|
| |
| !
!
I | -
-
SEE MIN. SEPARATION ! : ]
FROM GLASS SCHEDULE -} u
(SHEET S OF 8) J ™ | O.C) I '\;J S
— 1 0
{ v u
1 i
GLASS ——V—7 0 gz
OR DOOR ——= [ Z2a
| a nz:
I %
1| e
I Ijiw
I ]
| w
|
u I
a - ©)CONT. |
- - T
HOLLOW BLOCK —*" €3 CONNECTION TYPE u'k”Gz%Ag‘; wASHEReD
NUT @ 6" 0.C. FOR
OR WOOD FRAMING REFERENCE ANCHOR TYPE % Il AND @ 12” 0.C.

SCHEDULE FOR MAX,
SPACING

ANGLE TO WALL DETAIL

FOR TYPE ! & TYPE IV

PANEL TO ANGLE DETAIL

WALL MOUNT SECTION
SCALE: 3" = 1" - 0"

—— WOOD FRAMING

—C4 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MAX.
SPACING

C5 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MAX.

SPACING

EDGE DIST.

EMBED.
{TYP.}

2

EXISTING CONCRETE,
HOLLOW BLOCK

5/8" OR WOOD FRAMING

EXISTING CONCRETE,
HOLLOW BLOCK S
OR WOOD FRAMING

SEE MIN. SEPARATION
FROM GLASS SCHEDULE
(SHEET S OF 8)

)
[ |
LI

GLASS
OR DOOR —=

(®)CONT.

NUT
TYPEI

& il AND @ 12” 0.C.
| FOR TYPE lIl & TYPE tv

[ 174-20 MACHINE BOLT &
| WINGNUT () OR WASHERED
(83d @ 6" 0.C. FOR

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

y —C3 CONNECTION TYPE

REFERENCE ANCHOR
SCHEDULE FOR MAX.
SPACING

SEE MIN. SEPARATION
FROM GLASS SCHEDULE
(SHEET S OF 8)

GLASS

OR DOOR—

— — ——

146" MAX, ~— 7]

I

. _EDGE DIST.
—==0

EXISTING

STRUCTURE

CEILING/INSIDE MOUNT SECTION

SCALE: 3" =1 - 0"

GLASS [~ OB
OR DOOR I
— A1 U It
SEE MIN. SEPARATION " P
FROM GLASS SCHEDULE |
(SHEET 5 OF 8) : |
I_l | |
|
|
[
[
I,— (©)CoNT. |
Bl |
al¥
Wl o> |

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

|
3

MAX, PANEL LENGTH = 7'-6"

/— (©)conT.

WOOD FRAMING  REFERENCE ANCHOR s

SCHEDULE FOR MAX. 1vpPe
SPACING
ANGLE TO WALL DETAIL

TYP \'114-20 MACHINE BOLT &
1 CONNECTION E WINGhﬁ' OR WASHERED

(69 @ 6~ 0.C. FOR
% I AND @ 12" 0.C.
FOR TYPE Hll & TYPE iV

PANEL TO ANGLE DETAIL

WALL MOUNT SECTION
SCALE: 3" = 1" - 0"

\- 1749 x 1-3/4" S.S. LAG

@ 12”7 0.C. W/ 1-1/2"
PENETRATION INTO wOOD

2-1/4"® x 4-1/2" S.S.

1/4-20 MACHINE BOLT &
WINGNUT () OR WASHERED
(9 @ 6~ 0.c. FOR

L Il AND @ 12* 0.C.
FOR TYPE Hl & TYPE IV

NUT
TYPE

LAG SCREW @ 24~ Q.C. MAX.

W/ 1-3/4" PENETRATION
IN CENTER OF STUDS

2" x 6" P.T.
WOOD CONT.

NOTE: THIS DETAIL MAY BE USED
AT TOP OR BOTTOM OF PANELS.

NOTE: USE OF THIS DETAIL IS LIMITED TO + 72 PSF.

WALL MOUNT SECTION

SCALE: 3" =1" - 0"

EXISTING
STRUCTURE

EMBED.

(TYP.)

EMBED.
{(TYP.)

/8"
MAX.

SPACING

EDGE
DIST

~—=

3/4"

CONNECTION TYPE

8 /’§3EFERENCE ANCHOR
: S

CHEDULE FOR MAX.

1/4-20 MACHINE BOLT &
NUT @ 12” 0.C. STAGGERED

(TYP, TOP & BOTTOM)
174" MAX.

[ |
LIl

SEE MIN. SEPARATION

GLASS
OR DOOR

EDGE
DIST

(®CONT.
(@ CONT. (

TOP & BOTTOMZ

FROM GLASS SCHEDULE
(SHEET S OF 8)

Tk

®

— O®

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

=2

v

\_3/1.'

try

N 1/4-20 MACHINE BOLT &
WINGNUYT (8) OR WASHERED
NUT Ba) @ 6" 0.C. FOR
TYPE I'% 11 AND @ 12" O.C.
FOR TYPE Il & TYPE IV

LCZ CONNECTION TYPE

REFERENCE ANCHOR
SCHEDULE FOR MAX.
SPACING
= SIDE CLOSURE REQ'D. (SEE PLAN VIEW)

BUILD-OUT MOUNT SECTION

SCALE: 3" =

1 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MAX.

5/8"

EXISTING CONCRETE,
HOLLOW BLOCK
OR WOOD FRAMING

EDGE
DIST.‘

GLASS

OR DOOR—H

SEE MIN. SEPARATION
FROM GLASS SCHEDULE
(SHEET S OF 8)

MAX.

SPAC

ING
TYP. TOP & BOTTOM.
USE REMOVABLE FASTENERS @ 6”0.C. MAX.
FOR TYPE | & Il OR @ 12" 0.C. MAX.

FOR TYPE Il (DO NOT USE WHERE ANCHOR
SCHEDULE SPACING IS LESS THAN 6” 0.C.)

1T -0"

.

Q
@

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

EXISTING CONCRETE,
HOLLOW BLOCK
OR WOOD FRAMING

WALL MOUNT SECTION

SCALE: 3" =1 - 0"

By_r1¢
Ribinnsi §

PRODBUCT REVISED

a3 gomplying wit
Batd]

g Cade

=5 J
(=N
o @2n |15
b (AN al
3
QO =z |2
(o]
— 120112
= B.E|E
-+ D= O [7]
U cadlla
v o 133%| €
< el
NG |
:
g |TaF |
o
O ane b
= TeE|s
¥ 18 pes
& 283 )F
S |5
= [ $]8 I8
<L<\O0 D
o na D
= g
o) EINES o
=47
-DA
L5 =
~ <0 |5
o
z= g
(= Bl
el o
O
@
- el
2 O
5 228
|| EXE3SE
WL >n3eg
z s <nnaS
S & NN <
<C “*:FS'U\OAM
o 3 O ~20
B oaone ~
g . —o®Rin
= & gEa=S
x|zl =782
O ||EZEggp
Buns5EHK
Ly g\o"z‘_g._.h_‘
o =
w @ 2 :3.4[_‘0
| )
|5 .
w | g2
= 5 _.E-;
w ||z §E
= &
. =} i
<C 5 gs
o | & 8
|l o |l & gs
|| S 5
g 153
= <

"“ e
V.J. Kinezevich
Professional Engir.eer
FL License No.: PE@910983

|

description
PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

revisions

no| date |by
0 [06/28/2005| NW
1 [07/12/2006) NW

(-
date

06/28/2005 |

scale drawn by

AS NOTED MCR

design by checked by
VIK VIK

057343
(

sheet 2 of 6]




16: 26

07/12/06

07/14/2006 09:59: 54am

Print Information:

EMBED.

5/8"

2 CONNECTION TYPE

(TYP.)

MAX.

EXISTING CONCRETE, —|
HOLLOW BLOCK

OR WOO0D FRAMING

{SEE ANCHOR SCHEDULE
BASED ON TYPE OF

REFERENCE ANCHOR
SCHEDULE FOR MAX.

SPACING
1/4-20 MACHINE BOLT &
WINGW OR WASHERED

(SHEET S OF 8)

SEE MIN. SEPARATION
/ FROM GLASS SCHEDULE

U ~

TOP & BOTTOM

—_— VN ~
i
SEE MIN. SEPARATION f w
FROM GLASS SCHED. | 3
(SHEET 5 OF 8) | z S
® ‘ 25
CONT. 1 Za
| - OB 2
| oz
| z| <
| g
GLASS 1/4-20 MACHINE BOLT i alx
oR DOOR—-‘ & NUT @ 12” 0.C. | » g
<+~
(D CONT. (TYP. 4] s
i
w

/

=N

,
~t
el
A

EXISTING CONCRETE,
HOLLOW BLOCK

{11l

1/4-20 MACHINE BOLT &

WINGNUT () OR WASHERED

NUT (B3 @ 6" 0.C. FOR
TYPE IS Il AND @ 12" O.C.
FOR TYPE It & TYPE IV

STRUCTURE)

EDGE
DBIST

OR WO0OD FRAMING

{SEE ANCHOR SCHEDULE
BASED ON TYPE OF 3
STRUCTURE) ——— |

2 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MAX.

SEE MIN. SEPARATION

FROM GLASS SCHEDULE
(SHEET S OF 8)

SPACING
[ = SIDE CLOSURE REQ'D. {SEE PLAN VIEW)
EMBED, + ;’:; NOTES: - THIS DETAIL MAY BE USED AT TOP

OR BOTTOM OF PANELS.

- HEADERS @ & CANNOT BE USED IN
COMBINATION WITH THIS DETAIL.

ALT. BUILD-OUT MOUNT SECTION

SCALE: 3" =1 - 0"

. . 2" % 2 x 125"
THREE 1/4“® WOOD LAG 1-1/2"  1-1/2 ALUM. STUD ANGLE
SCREWS W/ 2-174" MIN, P il
EMBED. @ 24" O.C. MAX, WOOD ROOF TRUSS
| | OR FRAMING MEMBER
- SHALL BE PERPENDICULAR
— TO PANEL
. 2|71 STUCCO FINISH OR
sl% @ PLYWOOD SOFFIT
AE W :
— ——y 174" MAX, &N
1

CONT. 4" x .250"
ALUM, PLATE OVER
wO0O0D MEMBERS

®_>

) SEE MIN. SEPARATION
(FROM GLASS SCHEDULE
{SHEET S OF 8)

#14 SMS BETWEEN
TRUSSES @ 12” 0.C.

e

—

|
. NUT B3 @ 6" 0.C. FOR |
@ TYPE % 1 AND @ 12" O.C. | =1 (D3 sTorRM PANEL
B FOR TYPE Il & TYPE IV ] . 23
7 EXISTING CONCRETE, { T
A HOLLOW BLOCK | 919z
S Va “1m ' OR WOOD FRAMING e o
l g d W (SEE ANCHOR SCHEDULE : Sz >
1B ' 3  BASED ON TYPE OF ] w3z 1/4-20 S.S. BOLT & Ly
= I Z|lg  STRUCTURE) | gaE WINGNUT @ PANEL MIDSPAN
: 9| - | alz3 OR @ 51" 0.C. MAX. (TYP)
| n X|g =
| I ] Y I = vy o "
| Sla —0O® z|hd MIN. 2" x 2" x .125” CONT.
Wl i w > 6063-T6 AL. ALLOY
pld ] z| < — J -
. [y v u OR 18 GAGE GALV. STEEL
O « I v}
alx s a | ANGLE
[ e w
| Xlo U] J
<+ a
\ I Z|w w @
| w R
u &
) i B " @
) — - S ' CLIPS PER HOLE @ 6" 0.C.
NOTE: THIS DETAIL MAY BE USED %EQQQE%EOENTCYI':(E)R (D@ storm PaneL
AT TOP OR BOTTOM OF PANELS.
EMBED ls/6" SCHEDULE FOR MAX.
TMAX. SPACING
SCALE: 3" =1 - 0" SCALE: 3" =1 - 0" SCALE: 3" = 1" - 0"
NOTE:  PANEL LENGTH SHALL BE
LIMITED TO TABLE 1 TYPE il
SEE MIN. SEPARATION
FROM GLASS SCHEDULE
(SHEET S OF 8) -
U g
| . o T
| : |
wn 4
I-_ @@ [ a"
I
—_—] L]
1 GLass 5 O
| ©OrRDOOR z E
a 2" x 2" x 125" ALUM. 5
i ” STUD ANGLE z
-1/4-20 MACHINE BOLT & g -
| WINGNUT (B) OR WASHERED < I ]
I NUT B9 @ 6" 0.C. FOR e I z
| TYPETL WAND @ 12" 0.C. X I s ® 2" x3"x1/8" OR
| FOR TYPE ilt & TYPE IV g MAX. 1/8" TILE 1 % 2" x 5" x 1/8” 6063-T6
| />FINISH MATERIAL | X ALUM. ANGLE
| z
1/4-20 MACHINE BOLT & G2 x3"x1/8" 70
=L \/S/ WINGNUT (8) OR WASHERED = 2" x 5" x 1/8”
. = NUT (B3 @ 6" 0.C. FOR 6063-T6 ALUM. ANGLE
¥ 3/4" PLYWOOD TYPE 'S il AND @ 12” O.C.

[— 2" x 4" x 1/8" CONT.
ALUM. TUBE (6063-T6)

@ 12" 0.C. W/ 1-1/2" MIN. EMB.

VR

—— O

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—-343—03.dwg MCantu

(MAX. DESIGN LOAD = 72 PSF)

SOFFIT CONNECTION DETAIL

SCALE: 3" =

T -0"

MAX. PANEL LENGTH = 8'- 5"

EXISTING CONCRETE,
HOLLOW BLOCK

OR WOOD FRAMING

{SEE ANCHOR SCHEDULE
BASED ON TYPE OF
STRUCTURE)

KS/

1/4"® POWERS RAWL CALK-IN @ 12” 0.C.
WITH 7/8"” MIN. EMB. IN CONC. OR 6” O.C. IN
HOLLOW BLOCK OR 1/74"® LAG SCREW

FOR TYPE Il & TYPE IV

TWO0-3/16" ALUM.
POP RIVETS

@ 12" 0.C.

EXISTING CONCRETE
IN WOOD. WOOD SHALL BE OF SPECIFIC
GRAVITY “G” OF 0.55 OR GREATER

UL~——— 1/2"® THRU BOLT ® 127 0.C.
1/4"®» POWERS RAWL CALK-IN @ 12” 0.C.

WITH 7/8" MIN. EMB. IN CONC. OR 11” 0.C. IN

HOLLOW BLOCK OR 1/4"9® LAG SCREW
@ 24" 0.C. W/ 1-1/2" MIN, EMB. IN WOOD

: WOOD SHALL BE OF SPECIFIC
~ GRAVITY “G” OF 0.55 OR GREATER

: B“‘ W/ 1/4"® STUD @

12" 0.C.

PROBUCT RENEWED
&a sozsnlying with the Florida
Lndis

174”9 POWERS RAWL CALK-IN

4" 0.C. W/ 7/8”
IN. EMB. IN CONC.
W/ 1/4-20 MACHINE SCREW

Ar 06- 0 Zg .0 g
£x & /7T0l1
By (LA ,é

Mol Dade Peifoel Covem
Bivision '

@ 2" x 2" % 1/8” CONT. ALUM. ANGLE 6063-Té6

8" MAX.

{MAX. DESIGN LOAD + 72 PSF)

"PASS THRU" DETAIL

SCAL

E:3" =1 -0"

NOTE: THIS DETAIL MAY BE USED AT

TOP OR BOTTOM OF PANEL.
{MAX. DESIGN LOAD = 72 PSF)

EDGE MOUNT DETAIL

SCALE: 3" =1 - 0"

PRODUCT REYVISED

a2 complyies with the Flolds
Baiding Code

b §9_\ b3
QO InG N
o MmN Qf
3J
QO =% I8
U
— 120 _||©
= IS E\E
L exo| ¥
w35 ¢
QS48 S
=0
E 1522
<o
O RAn €
= Tekis
= =2 _8
g 383 ||F
2 19218
g 0% |8
mMnQ
= g
FANES
82 .
= 2 s
2'9‘7 =
g’
2 || 8]
]
3 wy
@ O
5 328
g Egod®
m (25235
= 2 <A
< || 28303
E SS90 ~m
o g O ~20
S Moo
= & gRas8
o z-a-._r‘_'_’b'@
O |EZ5EE
= ([ Q3858
h === Ry
n qegzﬂ"[f
o2
1] a -
w £ g5
- s oE
n = EE
s i
-
s | E\E:
E o8
o8 ge
NE E
I S

V.J. Knezevich
Professional Engineer
10983

FL License No.:

description
PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

revisions

no| date |by
0 (06/28/2005| NW
1 [07/12/2006] NW

[date

scale drawn by

AS NOTED MCR

design by checked by
VIK 1 L )

06/28/2005

05-343

sheet 3 of 6

]
)
{ drawing no. : K]
| 05843
( J




16:28

07/12/06

07/14/2006 09:59: 59am

P:\FL1\Projects\KK5343.00\Drawings\R1—sub\05~343—04.dwg MCantu

Print Information:

J\ o
|
| :
e OAE) 3
@
"
| T
2" x 2" x 125" ALUM. =
STUD ANGLE i g
4
-
1/4-20 MACHINE BOLT & k1/4-20 MACHINE &
me OR WASHERED || ' 35'1?_5(;’ :..T%DCW/ g
NUT @3 @ 6" 0.C. FOR | .C. -
TYPE & I AND @ 12" 0.C. (] ANGLE TO ANGLE X
FOR TYPE lll & TYPE IV — | CONNECTION g
z . %
/Z : 3
S m
A/
5/16" » POWERS CALK-IN
@ 6” 0.C. W/ 1" MIN. EMBED.
INTO CONC. OR HOLLOW BLOCK
W/ 5/16-18 MACHINE SCREW
y (8) 2" x 5" x 178" CONT.
- ANGLE 6061-T6 ALUM. W/
5/8 1/74"® STUD @ 12" 0.C.
EXISTING CONCRETE, MAX

HOLLOW BLOCK
OR WOOD FRAMING

NQTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL.

(MAX, DESIGN LOAD = 72 PSF)

EDGE MOUNT DETAIL
SCALE: 3" = 1' - 0"

T
s —— - —
2" x 5" x 1/8” _ — ~ [ | Il 3/8"® HOLE FOR
6063-T6 ANGLE ‘ I | FASTENING PANEL
. — 0@ . Fm——— = to—— ~H 27 x 2 ALUM.
[} 0 % t 4| STUD ANGLE
Il 174" MAX. . :\:_ ——e j
/8" i TWO0-2" x 5" x 1/8~ |~ 1/4-20 MACHINE SCREW 1/47-20 STUD
AX _ 6063-T6 ALUM. STUD W/ WINGNUT @ T
' l ANGLE = 61 0.C.TO PANEL 5 INTERIOR FASTENING
: o o 3 - ) & ANGLE ASSEMBLY
174"® POWERS : @ : — STUDDED STORM PANEL ! SCALE: 1-1/2" = 1'-0
CALK-IN W/ 7/8" MIN. EMBED. | . z
& @ 10" 0.C. IN CONC. OR @ { £ - . | 1/4-20 MACHINE SCREW &
6 0.C. IN HOLLOW BLOCK | g 2" x 2" x 1/8 STUD W/ NUT @ 6" 0.C. _ : 1/4,-20 MACHINE SCREW
WITH 1/4-20 MACHINE SCREW i z STUDDED ANGLE TO ANGLE X m STUD W/ NUT @ 6" O.C.
I 3 ANGLE \ CONNECTION z TWO-1/4"® DROP-IN
[ Y B — — THREE-1/4"® POWERS N ANCHOR @ 7° O.C.
1/4"® MACHINE BOLT ! < CALK-IN @ 4" 0.C. W/ 7/8" W/ 1" MIN. EMBED.
@ 12" 0.C. ! a . MIN. EMBED. IN CONC. W/ IN CONC.
I % 1/4-20 MACHINE SCREW | 2]
< N
Yo ] 3 | INTERIOR FASTENING
| ANGLE ASSEMBLY
L v ny - SCALE: 1-1/2" = 1-0"
EMBED, R
2 bl PUNCH HOLES IN ADJACENT
PANELS TO RECEIVE THIS BOLT
PLACE PANEL OVER EACH
ADJACENT PANEL AND FASTEN
[l  WINGNUTS FROM THE INSIDE
(MAX. DESIGN LOAD = 72 PSF) {AX. DESIGN LOAD = 72 PSF) >
ANGLE TO "U" HEADER BUILD-OUT ASSEMBLY MOUNT @ STORM PANEL INTERIOR FASTENING DETAIL (USE WITH DETAIL m)
SCALE: 3" =1 - 0" SCALE: 3" =1 - 0" SCALE: 3" =1 - 0"

1/4~20 MACHINE BOLT &

PRODUCT RENEWED
plving with the Flovida

WINGNUT (8) OR WASHERED
NUT (B3) @ 6” 0.C. FOR
TYPE 'L il AND @ 12” 0.C.
FOR TYPE Il & TYPE IV
— — T W S P %
o] TWO - 5/16"® POWERS CALK-IN N
[ . I @ 3-1/8" 0.C. W/ 1" MIN, EMBED. IN CONC. Y :
- D@ © L.@@ OR HOLLOW BLOCK W/ 3-3/4" MIN. N OIC I Divisiea
2" % 2" x .055" o I EDGE DIST. W/ 5/16-18 MACHINE ®
6063-T6 CONT. : . I SCREW | . e "
ALUM, TUBE i z I 5 | u;l [
| ] 4 — | . |
z I 2% x 2% 125" } i 1/4"9 THRU BOLT @ B po@ —®6
.- : 12" 0.C. ANGLE TO I i i
| 2 : STUDDED ANGLE | i ANGLE CONNECTION | E i
z etges) | o | g 5/g" z - |
T e 1A i < MAX. & 1/4"® POWERS CALK-IN @ |z i
e - ' o . 10" 0.C. W/ 7/8" MIN. i u i
z : % i % EMBED. INTO CONCRETE W/ |l =
< L #14 sSMsS 5 1/4-20 MACHINE SCREW | | %
[ z I @ 6" 0.C. |
| i ) . s f ¢
. 1-1/2" MIN, it i % [
\_ e— 2" x 7"x 8'-8" MAX. Tf=0.13", i 1 = '
® 2" x 2" x 125" 2" x 2" x 125" Tw=0.055" 6063-T6 ALUM. :t/ I/ 1 -
STUDDED ANGLE STUDDED ANGLE LAP BEAM " \ ® 27 x 2 x 125" 1/4-20 MA‘NE BOLT &
1/4-20 MACHINE 1/4-20 MACHINE BOLT & R . 4 [\ WINGNUT (8) OR WASHERED
SCREW @ 6" 0.C. WINGNUT (@) OR WASHERED N 2 xarx o @y STUDDED ANGLE NUT B9 @ 6" O.C. FOR
NUT @3 @ 6" 0.C. FOR 6063-T6 ALUM. 1@{:&GLE (B \ 2-1/2" MIN. TYPE L 1l AND @ 12” O.C.
1/4”® POWERS CALK-IN TYPE T il AND @ 12" O.C. (TYP. TOP & BOTTOM) N ; ©® 2" x 2 x 125" FOR TYPE Il & TYPE [V
EXISTING CONCRETE .‘ﬁ’céﬁac" glqéE%BcE%R FORTYPE I & TYPE IV STUD ANGLE
HOLLOW BLOCK HOLLOW BLOCK @ 6" 0.C. TWO 5/16-18 MACHINE SCREWS 27 x|%1x 178~
OR WOOD FRAMING 5
ALT. LEG DHRECTION 6063-T6 ANGLE
EXISTING CONCRETE, /
HOLLOW BLOCK - ‘
NOTE: THIS DETAIL MAY BE USED AT OR WOOD FRAMING NOTE: THIS DETAIL MAY BE USED AT NOTE: THIS DETAIL MAY BE USED AT PR@@UC} REVISED
TOP OR BOTTOM OF PANEL. TOP OR BOTTOM OF PANEL. TOP OR BOTTOM OF PANEL. &3 complying with the Florida

(MAX. DESIGN LOAD + 72 PSF)

2" x 2" ALUM. TUBE BUILD-OUT
SCALE: 3" =1 - 0"

(MAX. DESIGN LOAD = 72 PSF)

STORM PANEL SUPPORT BEAM
SCALE: 3" = 1" - 0"

widing Cod

(MAX. DESIGN LOAD = 72 PSF) Afiﬂ?ﬁi‘fé Neggs-o jZ-O?
Enpirstion Daie o 2: 007

Miami Dad
STORM PANEL BUILD-OUT Division
SCALE: 3" = 1" - 0"

e Congral

| FL License Nog 10983

= 15 g
oo
o |nz £
M 4
LN =Y
r EE™S 3
@) "‘:g e
@
M XY L_)
+ ITLE|E
-+ o—0Q || D
L isa4Yllg
7 Ao NeN
"/ E
< 2426
ENO ||
- = g
o
@) AG 2 ]
H TR (|l T
T e
o =X Pl
- g&% [
.
O ‘o u
S YR8 I8
q X073 (|8
w"?% o~
FN
C |2R7 |0
-U/\

L 1E3 e
~ %2 |5
.oy
IR g g
o5 a
i || o
9]

v
]
InER
0
5380.(\
2P~
oaad
o
538 &
O ~2\0
N
BEa>e
Z'-—T..gsg
Q .
wgﬁh:*
og 3= 8
RZE T
hd =

20 GA. STEEL STORM PANEL

Manviacturers of Hurricane & Security Protection Products

AWNING COMPANY, INC.
*QUALITY SERVICE SINCE 957"

—

V.J. Knezevich |

Professional Engineer

description
PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

revisions

0 [06/28/2005| NW
1 107/12/2006] NW

no| date by

—J

* 06/28/2005]

scale drawn by
AS NOTED MCR

design by checked by
[ VIK [ VIK]
‘ drawing no. }

05-343

(sheet & of 6)




16:28

07/12/06

10: 00: 03am

07/14/2006

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343—05.dwg MCantu

Print Information:

TABLE 1 - STORM PANEL(1)& (1a) SCHEDULE

TABLE 2 - MIN. STORM PANEL SEPARATION FROM GLASS SCHEDULE

TYPE | TYPE Il TYPE il TYPE IV
MINIMUM SEPARATION | MINIMUM SEPARATION
FOR MOUNTING FOR MOUNTING FOR MOUNTING FOR MOUNTING POSITIVE FOR INSTALLATIONS | FOR INSTALLATIONS
CONDITIONS W/ CONDITIONS W/ CONDITIONS W/ CONDITIONS W/ DESIGN |ACTUAL SHUTTER 30’ OR LESS GREATER THAN 30’
"h” OR "U” HEADERS | HEADERS & SILLS [“h” OR “U” HEADERS | HEADERS & SILLS LOAD SPAN (L) ABOVE GRADE ABOVE GRADE
NEGATIVE |2 SILLS USING STUDS,| USING STUDS, BOLTS [& SILLS USING STUDS,| USING STUDS, BOLTS W (FT - IN) (INCHES) (INCHES)
DESIGN LOAD | BOLTS OR DIRECT OR DIRECT MOUNT BOLTS OR DIRECT OR DIRECT MOUNT (PSF)
W MOUNT @ 6" O.C. MOUNT @ 6" O.C. MOUNT @ 12" 0.C. MOUNT @ 12" 0.C. BAR NO BAR 'NO BAR
PSF
( ) BOLTS OR BAR REQ’D. BOLTS OR BAR REQ'D. NO BOLTS OR BAR REQ’'D. | NO BOLTS OR BAR REQ'D. 5.0 2 2-1/2 1-1/4
AT MIDSPAN OVERLAPS AT MIDSPAN OVERLAPS AT MIDSPAN OVERLAPS AT MIDSPAN OVERLAPS 40.0 8 5 2 2-1/2 1-1/2
L max. L max. L max. L max. 12 -0 N/A 3-1/4 2-1/2
(FT=IN) (FT=IN) (FT=IN) (FT-IN) = o > 1,2 Y
40.0 8-8 12-0 8-8 n-6 50.0 8-5 2 2-1/2 1-5/8
45.0 8 -8 12-0 8 -8 10 - 10 11 -9 N/A 3-1/4 2-3/4
50.0 8-8 11-9 8-8 10 -3 ) 2 2-1/2 1-1/4
55.0 8-8 1M-2 8-8 9-9 60.0 8-5 2 2-1/2 1-5/8
60.0 8-8 10-9 8-8 9-4 10 -9 N/A 3-1/4 2-1/2
62.0 8-8 10 -6 8-8 9-3 5-0 2 2-1/2 1-1/4
65.0 8-8 10 - &4 8-8 9.0 70.0 8-5 2 2-1/2 1-3/4
70.0 8-6 9 -1 8-8 8-8 9 -1 N/A 3-1/4 2-1/4,
72.0 8 -4 99 87 8- 5-0 2 2-1/2 1-1/4
750 80 — P— P 80.0 8-5 2 2-1/2 1-7/8
90.0 6-8 8-9 7-2 7-8 = — =174
90.0 8-5 2 2-1/2 1-3/8
100.0 6-0 8-3 6-6 7-3 55 A 31/ >
110.0 5-6 7-1 5-10 6-1 7 o 2 212 14
120.0 5-0 7-17 5-5 6-7 100.0 6-0 2 2-1/2 1-3/8
130.0 4 -7 7-3 5-0 6 -4 8 -3 2 2-1/2 2
140.0 4 -3 7-0 4-1 6 -1 4 -0 2 2-1/2 1-1/4
150.0 4L-0 6-9 4-3 5-1 110.0 6-0 2 2-1/2 1-3/8
NOTES; 7-1 2 2-1/2 1-7/8
1. ENTER TABLE 1 WITH NEGATIVE DESIGN LOAD TO DETERMINE MAXIMUM 4-0 2 2-1/2 1-1/4
PANEL LENGTH. 120.0 6-0 2 2-1/2 1-3/8
2. REFERENCE APPROPRIATE COLUMN IN STORM PANEL SCHEDULE BASED 1-7 2 2-172 1-7/8
ON MOUNTING CONDITIONS IN FIELD.
NOTES:

3. SEE NOTE No. 16 ON PAGE 1.

1. ENTER TABLE 2 WITH POSITIVE DESIGN LOAD TO
DETERMINE MINIMUM SEPARATION FRON GLASS.

2. FOR DESIGN LOADS BETWEEN TABULATED VALUES USE NEXT
HIGHER LOAD OR LINEAR INTERPOLATION MAY BE USED TO
DETERMINE ALLOWABLE PANEL LENGTH.

3. " N/A " DESIGNATES NOT APPLICABLE - MUST MEET "NO BAR” REQUIREMENTS.

PRODUCT RENEWED

with the Florida

—
= J
[=,9
8 8e |1<
i[OO al
O l=z |3
5 1S
Y
Lo B 0] —
B BLE|E
D |$39|8
» 2voall®
3031 E
S 3agle
g 5ag|t
(=)
O 1832 I
~ (YeE|ls
L3 2x3 _g
o |32E|F
O ~o'
= 1482 |18
q L0 | S
MmO
v [[N
e ;N;
N
O g5 |e
T
L 15T ||z
= 132 |%
O\
(= 2r al
| EElE
)
=
8 o by
2 388
1B 5x33¥
Wi 23258
< E_‘:mmm*
s Sdg\Le ~m
o D oE~2\
s MY~
- — D 00 "
2 |& gERa>S
[0l - e P R
O ||EZEge
|| ARSE=m
) TR0
| @
w | g .
o E £2
= -
w |i= gg
o Iz
< |8 ( s
5 2z
S 5 L
o |l gE
YRR £3
2 E:
2.\
V.J. Knezevich
Professional Engineer
FL License No.: P5-8410983
r‘—ﬁ\_ o~
o
g
&,
(8|
29|23
alZ|z
5|Z(9
9N 25|z
cgﬁg
.9/ D|2|8
Q
L2 1S
2l B
T
>
HE
ZTs
o|8|8
SI8I&
G|
©lals
B FiEE

date

06/28/2005 |

scale

AS NOTED Mdmw" b)l,\/ICRJ
|

design by checked by
ViK L v K]

05-343

drawing no, ’

(she

et S of §




17:25

07,/12,/06

10: 00: 09am

07,/14/2006

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—~343—06.dwg MCantu

Print Information:

ANCHOR SCHEDULE ANCHOR SCHEDULE
FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS
g LOAD MIN. 2" EDGE DISTANCE MIN. 3" EDGE DISTANCE g LOAD MIN. 3/4" EDGE DISTANCE
2 (W) | SPANSUP TO [ SPANSUP TO | SPANSUP TO | SPANS UP TO | SPANS UP TO | SPANS UP TO S (W) | SPANSUP TQO | SPANSUP TO | SPANS UP T0
3 P.SF. 5-0" 8'-5" 12°-0" 5-0" 8'-5" 12'-0" 3 P.S.F. 5°-0" 8'-5" 12'-0"
v ANCHOR TYPE MAX.| _ (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) wv ANCHOR TYPE MAX.|  (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1)
; (SEE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE {; (SEE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE
< NOTE |  (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) < NOTE |  (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3)
w 1) |ciic2jc3jcaicsfcr|c2ic3jcalcsfcr|c2]c3|calcsfcr|c2]|c3|calcs|cr|c2|c3]ca]cs|ct|c2]c3]|cs|cs w 1) |c1jcz|c3|calcs|cricz|c3|calesicr|c2|c3]calcs
43.0 J12.5(12.5012.512.5[12.512.512.512.5] 7 | 11 Ji2.5h2.512.5 & | 7 Jr2.512.5]12.5/12.5/12.5/12.5/12.5/12.5] 7 M12.5h2.5h2.5]2.5] & | o 2" MIN. 43.0 h2.5[12.5112.512.5012.5h2.5/12.5/12.5 9 | 11 p12.5j12.5/12.5/ 6 | 7
50.0 [12.5[12.5[12.5[12.512.5[12.5/12.5012.5| 5 | 9 Ji2.512.512.5] 3 §6.2912.5/12.5/12.5012.5/12.5/12.5[12.5/12.5] 5 | 11 h2.5]12.50125] 3 | 7 H:m 50.0 [12.512.5/12.5/12.512.5[12.5/12.512.5| 7 | 9 [12.5/12.5112.5/ & .25
1/47% ITW TAPCON wy |72:0 12.512.5012.5) 7 | 11 i2.512.512.5 3 .2d12.5/ 8 | 5 4 12.812.5012.5) 7 12.5h2.5012.512.5) 3 | 7 h2s| 8 | 5 5 /4" x MIN. 3¢ Long |72:0 [12.512.502.5) 10 | 11 p2.52.5012.5) 4 e.2912.5/ 11 7 | 3 | 4
1-3/74" MIN. EMBEDMENT [ 840 h12.511259125/ 5 | 9 h2.5f125 8 5 h25/ 5 | & 3 251250125 6 | 110250125/ 8 | 3 62125/ 6 | & 4 pUAGSCREW W/ MIN. 2 | 84.0 [12.5012.512.5) 8 | 9 J12512.5/ 11| 4 | 5 125 8 | 6 3
| (MIN. 3,192 P.5.1. concrete) ] 150.0 f12.5[ 1] 7 s f10]4 |3 3]10[4]3 3 j125/12| 7 6.24 1] 4 | 3 EENE 3 OR PERP. TO WOOD GRAIN| 150.0 J12.512.5/10 | 3 | 5 h2s| 5 | & 3 |25 5 | 4 3
F SIS | 43.0 12.5112.512.5)12.5/12.5012.512.5[12.5] 7 [12.5h12.5[12.5/12.5] 4 | 9 O *%ﬂm‘m 43.0 112.512.512.56.2%,/ f12.5/12.5112.5 9]9|8
*m 50.0 12.5[12.5[12.5/12.5/12.5[12.5/12.5/12.5| 5 | 11 j12.5112.5012.5/ 3 | 7 o 50.0 }12.512.512.5/ 5 ninnin 8|8 |4
148 ELCO MALE/ FEMALE| 72.0 12.5/12.512.5] 7 j12.512.5/12.5/12.5/ 3 | 7 ji2.5| 8 | 5 5 O | 7/16"¢ woop BusHing |72:0 [12.5112.512.5 8|84 5
N EMBED. & d/u_Z0' | 84.0 12.5112.512.5/ 5 | 11 }12.512.5 8 6.2912.5 5 | 4 4 ; /(8 MIN EMBED. & 1840 [11]11] N .25 5 | 3 4
{MIN. 3,000 P.S.I. CONCRETE) | 150.0 12.5/ 11| 7 6.2910 | 4 | 3 3|04 3 3 MACHINE SCREW 150.0 b.25 & 3 3
3.0 J12.512.512.512.512.5012.512.5/12.5] 4 | 7 j2.5[12.5/12.5 5 [12.512.5/12.512.5]12.5)12.5/12.5112.5] 6 |12 h2.5/12.5/12.5| 3 | 8 F IS | 43.0 12.5[12.5012.5] 11 12.5)12.5/12.5[12.5 & | 8 [12.5]12.5/12.5 6
* M 50.0 112.512.512.5) 9 | 11 [12.512.5/12.5) 3 6.212.512.5 8 & h12.5012.5012.5| 11 12.5j12.512.512.5 &4 |10 iz.spzs| 1] 3 | 7 *W 50.0 [12.5[12.5[12.5 8 |12 [12.512.5/12.5| 3 | 7 |i2.5hi2.5} 7 5
E 1/4"% POWERS CALK-IN | 72.0 1250125125 & | 7 f25/125 8 tf1w0)s|3 3 |2.512.512.5| 6 [12.5]12.5012.5] 10 7 h2.56.29 & 5 17478 ELCO MALE/ FEMALE| 72.0 [12512.5125) 4 | 8 1i2.5125] 7 S EINE 3
LU J1/74-20 STAINLESS STEEL| 84.0 125125125 3 |6.29125/ 9 | 5 N 12.5/12.5/12.5) 4 |10 [12.5] 11| 7 6241|553 4 w N EMBED. 17020 | 84.0 125125125 3| 7 f11]8 |5 N ERE 3
6 (MIN. 2,000 P.S.I. CONCRETE) ] 150011 7 | 5 317 7 12.5| 9 6.25 6193 3193 3 150.0 110 6.25 & 4L .25 .25
- J&3.0 p2sph2.542.5) 7 [10 p2.5ph2.sh2.5)6.29 10 (10| 9 & |12.512.5/12.5 8 [12.5)12.512.5012.5 3 | 7 [ 1] 1110 5
CZD =3 [s00 hashesiizg s |9 |12 12|12 s|lsls|s 3 [r2.5012.5012.5) 6 | 11 i2sh2.sh2s) e2d 2| 9 | s 4
U | uepowers pawe | 72.0 k251251250 %2968 |8 | 5 3|63 12.512.5125 3 [ 7] 9] 9|5 4 p29 3 3 ANCHOR NOTES:
1-378" MIN. EMBEDMENT | 84.0 |12 112 ;12 S|17(5]|3 315 12.5[12.512.5 6298 | 6|3 315 —_———
MIN: 2,000 P CONCRETE) | 150.0 .25 & 314 b 7 513 /73 ]¢ 4 " ALLOWABLE STORM PANEL SPANS FOR SPEGIFIC LOADS MUST BE LIMITED 1O THOSE
43.0 112.5/12.5/12.512.512.5012.512.5112.5] 5 | 11 [12.502.5/12.5| 3 | 7 [12.5112.512.5}12.5/12.512.512.5012.5] 5 | 11 jiz.5142.512.5] 3 | 7 SHOWN IN TABLE 1.

E} 50.0 J12.5012.5012.5) 9 [12.512.5/12.512.5] 4 | 9 h2.5)12.5) 9 6.2912.5[12.512.5| 9 [12.512.5[12.512.5) & | 9 [12.512.5 9 6.29 2. ENTER ANCHOR SCHEDULE BASED ON THE EXISTING STRUCTURE MATERIAL
17478 ITW RED HEAD | 72.0 J12.5125/12.5] 5 [ 11 125125 9 |2 11 [ 5 | & 4 h2sh2shas] s [ p2shies 9 k2 n s [« /] B R T AN D D T AN LT RS IGN QAR GREATER THAN OR
ANCHOR W/ 1-178" MIN. | 84.0 [12.512512.5) 4 | 9 125, 9 | 6 HEITNE 3 Ji2.5012.5/125/ 4 | 9 125] 9 | 6 S EINE 3 THAN OR EQUAL TO SHUTTER SPAN.

MIN. 3,000 P.S.A. CONCRETE) | 150.0 12,5 8 | 5 S ERE 3|73 3 h25 8 |5 sf7]3 3|73 3 3. SEE MOUNTING SECTION DETAILS FOR IDENTIFICATION OF CONNECTION TYPE.
43.0 [12.512.5012.5[12.5112.5012.5[12.512.5 5 | 8 }12.5/12.5/12.5] 3 | 5 |}12.512.5/12.5112.5[12.5[12.512.5] 13 |6.2512.5}12.5112.5/12.5] 3 | 9 L. EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW BLOCK OR WOOD FRAMING.
50.0 J12.512.5012.5) 9 | 11 r2.5/12.5)12.5] & | 7 h2.5f2.5) 9 & 12.5012.5/12.5/ 12 [12.5}12.5/12.5/ 13 | 5 | 11 2525/ 11| 3 | 7 R TG & TR PR - HEDULE FOR PROPER ANCHOR TYPE BASED ON TYPE OF
V%:?/ZQ%EQI%IEJQRP ~IN| 72.0 12.512.512.5| 5 | 8 [12.5{12.5| 9 L1105 | 4 3 [12.5[12.5[12.56.2512.5[12.5/12.5| 11| 3 | 7 125/ 7 | 5 5 5. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURERS'
BOLT (3/4"8 HEAD) W/ | 84.0 J12.512.5125) &4 | 7 125 9 | 6 NERE 12.512.512.5) 5 | 11|h25/12| 7 [/ 624 11| 5 | 3 4 RECOMMENDATIONS.
MIN. 3,000 P.S 1. CONCRETE) | 150.0 |12 | 8 | 5 317 7 12.5/10 6.25 6|93 3|93 3 6. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES WALL FINISH OR STUCCO.
43.0 125125125 5 [ 8 f1| 1|1 5[7]7 .25 3 [12.5/12.5[12.56.25 10 [12.5[12.512.5 6lo|9|8 L 1. VEE$EFﬁ%‘l{soT\'/"é%|§$R1"’ﬁ;1g'?=§alssT\évN°E°RDsFEﬁAElegbvxgggJEﬁngo%oyRDHr'ﬁryg
50.0 12.512.5125 4 | 7|19 |9 |9 4 6.256.29 & 3 p2.50250125 4 | 8 |11 | 11|11 S|7| 7|4 3 MEMBERS, NOT PLYWOOD. FASTENING TO PLYWOOD IS ACCEPTABLE ONLY FOR
V4 e T RN IR ZZ A =2 E 4 EErEZ B D E E SIDE CLOSURE PIECES.
FRL RSSOt oo |9 9 o 700 Ts T 3 IKIE7/E S ESER7/El T ©: YUERE KA SCREMS LASTEN IO NARROM FIACE OF STUR ERABINS, FoSTENER
v sools ] 3 3 ak 3 3 A T U A e R
(W) 43.0 12.5/12.5012.5| 9 | 11 [12.512.5[12.5, 3 | 7 |12 |12 |10 4 PHILLIPS PAN HEAD OR HEX HEAD. '
S 720 R e R K B % ASE ANGIOR AND MAY HAVE EITHER A PAN FEAD. TROSS HEAD, OR WAFER.
[ €O MALE/ FEMALE| 72.0 12.512.512.5| 3 | 7 |10}10] 6 N EEE BESS SEORANBAY ok . .
3 M:ﬁ%ﬂéﬁgﬁéﬁw\i’néﬁ%} 84.0 12512.512.5 oo ezt > P23 10 DESIGNATES ANCHOR CONDITIONS WHICH ARE NOT ACCEPTABLE USES
= |(MIN. 3,000 P.5.1. CONCRETE) | 150.0 8 5|3 3]5 5 ) '
A M ‘S’Z'g gg:;;gg Z 6‘;5 11; 11(1) 11; Z 3 3 Z 3 12'512'512'5 7| 1111251251250 77 7 110 10| 9 & 1. * DESIGNATES ANCHORS WHICH ARE REMOVABLE BY REMOVING MACHINE
»] .0 h2.sh2.sli2. . 5[12.5012.5/ 5 | 10 h2.5]12.5/12.5 6|ls|8]s L SCREW, NUT OR WASHERED WINGNUT.
2 | 4 e POWERS cALK-IN | 72.0 | 11| 1] 11 4 [p.2%6.25 4 4 12.5/12.5/12.5 7]8]|8]s ARE
O [/4-28,STAINLESS STEEL| 84.0 [10 110 10 tls a4 4 12.5[12.5/12.5] 6|l7]|s5]3 3|5
W) 150.0) 5 | 3 3 3 7413 34 4
; | &3.0 h2spz2sph2.8] 7 [10p2.sfi2.502.5 B EERE 4t [2.512.512.5] 8 [12.5p12.512.5012.5 3 [ 7 [ 11 [ 1] 9 5 VISED
3 A —== [500 pzshzsizs s |8 [12|12]12 s|s|8]s 3 [12.512.5012.5 5 | 10 iz.512.5112.5%.24 9 [ 9 | 5 4 ¢ with ¢he Florids
- 1/th'§A|>com/5|E§lﬁcvw/L 72.0 12.512.5/12.5 6|8!8 |4 31513 12.512.5125/ 3 | 7|9 |9 |5 4 p29 3 3 05 /Z
wd | 1-174" MIN. EMBEDMENT | 84.0 |12 |12 |12 51753 315 12.5[12.512.5 6.29 8|5 |3 315 T—:ZZ -08
@) 150.0 .29 & 4 4 7/5|3 3]s 4 el Zool
= 43.0 12.512.512.5] 9 |12.5h2.5112.5/12.5| 3 | 8 |12.512.5] 11 S 12.5112.5012.5/ 9 [12.512.5/12.512.5] 3 | 8 Ji2.5[12.5 11 5 )4
N@E 50.0 J12.5012.5[12.56.25 12 J12.512.512.5 711 11k.25 5 [12.5012.5[12.56.29 12 J12.5/12.5/12.5 7| 11] 11625 5 nitGodunt Conrel
1742 ITW RED HEAD | 72.0 hi2.5112.512.5] 3 | 8 [ 11| 11 6.25 L1714 3 h2sp2.sji25] 3 | 8 | 11] 116.25 N 3
DYNABOLT SLEEVE
ANCHOR w7 1178 MIN. | 84.0 [12512.5/12.5 7]9 k2 4 4 b2y 3 12.5[12.5/12.5 719 625 & 425 3
150.0] 8 [ 5|3 t]s 5 8|53 4]s 5

2 5= £
QD Ak -
ot 21N g_
QO =% |2
- 2‘8 6]
. < —
+ ITTE|(E
+= 56| ®
U o&ulle
by 4 Soall B
323 E
S SS|Ie
| S
£ 5%
(=
O el e
= YoEls
REFEE:
g 1323 |F
S |ssis
c 0% IS
MmO
= s
mN;

O 1ER7 o
el
LSS Iz
— <y ||l<

z2 || g
- P
o5 a
o o
[
“
= L)
o O
oD
|| 8 E¥E3e
W& =323
Z |5 <8483
<C S gemO
83 2000
o S O ~20
S M~
= &gi%vg
€ l|lelasTsl
O ||EZEg8
am.mﬁmx
Blldgsi==g
n geg p.,g
- | o
w | g
w = Og
- || E z
w iz s;
.I“c.s 2a
< |4 cz,E
Q|5 3§
< 1 3 gE
N (R 73
& =
g £2
= s
i

FL

J

[ V1. Knezevich

Professional Enginzer
License No.: P§ 0982

U 06

e

revisions

(—

{
\

description
PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

no| date |by
0 [06/28/2005| NW
1 07/12/2006| NwW

N [date

06/28/2005

scale

)
AS NOTEDJ [dmw" b{\ACR]
design by ]Lchecked by ]

VIK K

v

05-343

|
(s

drawing no. ’

heet 6 of 6




